DUNCAN MODEL DB 1027-2C .

7.

Regyy

gRLBHERE

Shrbazs
BB BRRRRARRARES ANB A IBANEEEBa800ACRDDDC0RBAANSNABBEITAEBA0RRRIBAABED

EX- R 3

RRER

BRBR2BELE

238

310

DESCRIPTION
1027 Fiber Gasket

1027 Brick Ud (Banded & Coated) w/Vent Hole

1027 Collar Case w/Clamps
1027 Case w/Clampa

1027 Brick Bottom

1020/28 Hinge Bar, Upper
Base Plale

Stand w/Feet

Stand Feet

1027 Heat Shield

1027 Coilar Heat Shieid

1027 Controtl Panei Shell

EA Pilot Uight

Hinge Pivot Kit

1020/28 Ud Support

Pal Nut

Switch Knob

Kiin-Sitter w/Safety Timer

8 Connecting Wire, 8 Gauge
8° Connecling Wire w/Green Tape, 8 Gauge
#8 x 1° Sheet Metal Screw
#38 x 1/2° Sheet Metal Screw
Peephols Plug

Handle

Ud Suppert Mounting Kit, Upper
Ud Support Mounting IGt, Lower
Rught Hinge w/Pivot

Left Hinge w/Pivot

1027 Grooved Brick

1027 Terminal Brick

1027 Peephole Brick

1027 Kin-Sitter Brick

1020/28 Hinge Bar, Lower

2 Pole Terminal Strip

Power Relay

Ud Support Guard

Fiber Board, 1027 Coltar

Fiber Board, 1027 Case

14° Connecting Wire, 12 Gauge
9* Connecting Wire, 12 Gauge
10" Connecting Wire, 18 Gauge
14° Connecting Wire, 18 Gauge
Infinite Switch wPa! Nut (220/240V)

28-32 Hex Nut

16" Connecting Wire, 12 Gauge
Terminal Block, 3 Pole
Standasd Buss Sar Assembly

U-Terminal Assembly
Insulator
1/8° Standoft

Top Four Elsments (240V)
Middle Four Elements (240V)
Bottom Four Elemaents {240V)
#8 x 1/2° Sheet Metal Scrow
#10-32 x J/3* Machine Screw
Handle (for Round Ud)

#6-32 x 1/2* Machine Scrow
#10 Star Washae

#8 Star Washer

9 Connecling Wire, 12 Gauge
§° Connaecting Wire, 12 Gauge
Junclion Box

12* Connecting Wire, 12 Gauge
#68-32 x 3/4" Machine Screw
4* Fiberginss Sleeving

BODY PARTS

s
. -
.. -
. -
-
-
-

P.O. BOX 7808
FRESNO, CA. 83747

ORDER PARTS FROM YOUR AUTHORIZED
DUNCAN CERAMICS DISTRIBUTOR.




